HAVIS

Productivity in motion

INSTALLATION INSTRUCTIONS

Havis, Inc.

75 Jacksonville Road

Warminster, PA 18974
800-524-9900 F 215-957-0729

www.havis.com

CBR-INUT-1 Cargo barrier for 2020 Ford Interceptor Utility

Requires Pro-Gard rear partition

TOOLS REQUIRED:

Standard socket set 7/16” Open-end wrench

PARTS and MOUNTING HARDWARE:

QTY DESCRIPTION
Rear support bracket

Driver side cargo barrier
Passenger side cargo barrier
Stiffening brace

Driver side rear mounting bracket

[ =Y S T S SN SN

Passenger side rear mounting bracket
76”  Edge molding

2 #8-18 x %” Phillips head screw

12 1/4" Serrated nut

12 1/4” x 3/4" Carriage bolt

2 #8 Star washer

PART#
CMO010056
CMO010057-DS
CMO010057-PS
CM010279
CMO010280-DS
CMO010280-PS
PRM98343
GSM34257
GSM30023
GSM32000
GSM31033

Always!

Screwdriver set

» Read all instructions before installing any Havis, Inc. products.
» Check for obstructions (Wires, brake lines, fuel tank, etc.) before drilling any holes!

> Use hardware provided with install kit

CBR-INUT-1_INST_1-20



Havis, Inc.

75 Jacksonville Road
Warminster, PA 18974
I 800-524-9900 F 215-957-0729

Productivity in motion www.havis.com

CBR-INUT-1

GSM32000

CMO010057-DS

CM010280-PS CMO010279

(One each side)

CMO010057-PS

GSM30023

CMO010056

CMO010280-DS

GSM34257
GSM31033

CBR-INUT-1_INST_1-20



Havis, Inc.

75 Jacksonville Road
Warminster, PA 18974
I 800-524-9900 F 215-957-0729

Productivity in motion www.havis.com

A\

l

Remove OEM hook Attach rear-mounting brackets using Remove (6) serrated nuts from rear
#8 x 3/4" screws and #8 star washers. of Pro-Gard partition.
Repeat for other side Repeat for other side Set aside for later step.

Place driver side, rear cargo barrier Attach to rear partition using Attach both cargo barrier sides
into back of vehicle. previously removed serrated nuts. together using 1/4" x 3/4” carriage

bolts and nuts.

Note: Attach stiffening brace on
bottom side with 1/4" x 3/4” carriage Repeat for other side

bolts and nuts prior to installation.

CBR-INUT-1 shown with C-TTP-
INUT-1200.

Slide rear support brace between Installation is now complete.
cargo barrier and rear-mounting
brackets.

Attach using 1/4" x 3/4” carriage
bolts and nuts. CBR-INUT-1_INST_1-20



